
split=1300, BN=30, 50%

0.129 0.81 1.492
0

0.06

0.11
P(Pop5b)=0
P(Pop5)=0

split=1300, BN=30, 75%

0.089 0.66 1.23
0

0.07

0.13
P(Pop5b)=0
P(Pop5)=0

split=1300, BN=30, 90%

0.083 0.551 1.018
0

0.04

0.09
P(Pop5b)=0
P(Pop5)=0

split=1200, BN=30, 50%

0.118 0.617 1.116
0

0.04

0.09
P(Pop5b)=0
P(Pop5)=0

split=1200, BN=30, 75%

0.083 0.505 0.926
0

0.08

0.16
P(Pop5b)=0
P(Pop5)=0

split=1200, BN=30, 90%

0.108 0.608 1.108
0

0.06

0.11
P(Pop5b)=0
P(Pop5)=0.059

split=1100, BN=35, 50%

0.106 0.718 1.33
0

0.04

0.09
P(Pop5b)=0
P(Pop5)=0

split=1100, BN=35, 75%

0.087 0.445 0.804
0

0.04

0.09
P(Pop5b)=0.022
P(Pop5)=0.012

split=1100, BN=35, 90%

0.067 0.424 0.782
0

0.03

0.07
P(Pop5b)=0
P(Pop5)=0.079

split=1000, BN=35, 50%

0.075 0.473 0.871
0

0.04

0.09
P(Pop5b)=0
P(Pop5)=0.055

split=1000, BN=35, 75%

0.069 0.433 0.798
0

0.06

0.11
P(Pop5b)=0.022
P(Pop5)=0.119

split=1000, BN=35, 90%

0.067 0.465 0.863
0

0.03

0.07
P(Pop5b)=0.333
P(Pop5)=0.107

split=900, BN=35, 50%

0.096 0.437 0.778
0

0.04

0.09
P(Pop5b)=0.333
P(Pop5)=0.316

split=900, BN=35, 75%

0.086 0.431 0.775
0

0.03

0.07
P(Pop5b)=0.422
P(Pop5)=0.387

split=900, BN=35, 90%

0.052 0.362 0.672
0

0.03

0.07
P(Pop5b)=0.444
P(Pop5)=0.427


